CITY OF	KENT					1							
Green Riv	ver Levee Temporary Flood Protection	BIDDER'	S	Rodarte Constru	uction, Inc.	Tri-State Constr	ruction, Inc.	Lloyd Enterprise	es, Inc.	SCI Infrastructu	ıre, LLC	Pivetta Brothers	Constr.
BID DEAL	DLINE: October 5, 2009	NAME AI	ND	PO Box 1875		PO Box 3686		PO Box 3889		1508 Valentine	Ave. SE	PO Box 370	
		ADDRES	S	Auburn, WA 98	071-1875	Bellevue, WA 9	8009-3686	Federal Way, W	A 98063	Pacific, WA 980	047	Sumner, WA 98	3390
		Sche	edule IA		\$265,611.41		\$302,588.19		\$191,926.50		\$149,746.73		\$268,045.05
		Sche	edule IB	:	\$370,291.77		\$412,882.07		\$274,816.63		\$235,875.32		\$385,531.98
		Sche	edule IC	:	\$602,556.60		\$516,633.32		\$390,486.32		\$266,973.32		\$382,879.89
		Sche	dule IIA	:	\$420,598.26		\$448,010.76		\$283,919.68		\$213,204.17		\$402,749.76
		Sche	dule IIB	:	\$570,896.87		\$607,026.66		\$399,231.95		\$342,541.46		\$583,537.55
		Sche	dule IIC	:	\$748,356.95		\$708,263.79		\$546,507.74		\$337,066.46		\$509,461.89
		Sched	lule IIIA	:	\$474,255.45		\$531,696.41		\$465,232.77		\$264,880.50		\$481,552.53
		Sched	lule IIIB	:	\$641,636.37		\$696,417.26		\$467,577.49		\$395,993.06		\$667,527.33
			lule IIIC	:	\$0.00		\$810,976.16		\$624,148.26		\$390,518.06		\$584,887.68
ITEM					TOTAL		TOTAL	_	TOTAL		TOTAL	_	TOTA
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
SCHEDU	LE I - ALTERNATE A: S. 259TH ST - SR 167												
1002A	Haul and Install Bulk Bag	4,225	EA	\$41.00	\$173,225.00	\$34.00	\$143,650.00	\$21.37	\$90,288.25	\$21.75	\$91,893.75	\$40.00	\$169,000.00
1003A	Standard Sandbag	4,225	EA	\$6.50	\$27,462.50	\$6.25	\$26,406.25	\$9.71	\$41,024.75	\$0.25	\$1,056.25	\$4.00	\$16,900.00
1004A	Clearing the Site	1	LS	\$1,000.00	\$1,000.00	\$8,500.00	\$8,500.00	\$1,029.30	\$1,029.30	\$2,000.00	\$2,000.00	\$7,632.00	\$7,632.00
1355A	Minor Changes	1	CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
1360A	Traffic Control Labor	200	HR	\$44.00	\$8,800.00	\$57.00	\$11,400.00	\$45.15	\$9,030.00	\$48.00	\$9,600.00	\$57.00	\$11,400.00
	Construction Signs Class A	240	SF	\$15.00	\$3,600.00	\$20.00	\$4,800.00	\$15.80	\$3,792.00	\$9.00	\$2,160.00	\$17.00	\$4,080.00
	Traffic Control Supervisor	100	HR	\$44.00	\$4,400.00	\$80.00	\$8,000.00	\$46.20	\$4,620.00	\$50.00	\$5,000.00	\$61.00	\$6,100.00
	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$48,000.00	\$48,000.00	\$877.39	\$877.39	\$500.00	\$500.00		\$5,680.00
	Portable Changeable Message Sign (PCMS)	21	DAY	\$60.00	\$1,260.00	\$110.00	\$2,310.00	\$95.50	\$2,005.50	\$75.00	\$1,575.00		\$1,932.00
	Sequential Arrow Sign (SAS)	21	DAY	\$20.00	\$420.00	\$30.00	\$630.00	\$23.87	\$501.27	\$50.00	\$1,050.00	\$18.00	\$378.00
	Type III Barricade	8	EA	\$125.00	\$1,000.00	\$240.00	\$1,920.00	\$185.51	\$1,484.08	\$150.00	\$1,200.00	\$148.00	\$1,184.00
	Temporary Barrier	36		\$25.00	\$900.00	\$20.00	\$720.00	\$17.30	\$622.80	\$20.00	\$720.00	\$14.00	\$504.00
107071	SUB TOTAL	00		Ψ20.00	\$242,567.50	Ψ20.00	\$276,336.25	ψ17.00	\$175,275.34	Ψ20.00	\$136,755.00	Ψ11.00	\$244,790.00
	9.5% sales tax				\$23,043.91		\$26,251.94		\$16,651.16		\$12,991.73		\$23,255.05
	SCHEDULE I - ALTERNATE A TOTAL				\$265,611.41		\$302,588.19		\$191,926.50		\$149,746.73		\$268,045.05
SCHEDU	LE I - ALTERNATE B: S. 259TH ST - SR 167												
	Fill, Load, Haul and Install Bulk Bag	4,225	EA	\$58.00	\$245,050.00	\$55.00	\$232,375.00	\$35.78	\$151,170.50	\$38.00	\$160,550.00	\$63.00	\$266,175.00
	Standard Sandbag	4,225	EA	\$9.76	\$41,236.00	\$6.25	\$26,406.25	\$10.85	\$45,841.25	\$0.25	\$1,056.25	\$4.00	\$16,900.00
	Clearing the Site	1	LS	\$1,000.00	\$1,000.00	\$8,500.00	\$8,500.00	\$1,029.30	\$1,029.30	\$2,000.00	\$2,000.00	\$7,751.00	\$7,751.00
	Minor Changes	1	CALC	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
	Traffic Control Labor	200	HR	\$44.00	\$8,800.00	\$57.00	\$11,400.00		\$9,030.00	\$48.00	\$9,600.00		\$11,400.00
	Construction Signs Class A	240		\$15.00	\$3,600.00	\$20.00	\$4,800.00		\$3,792.00	\$9.00	\$2,160.00		\$4,080.00
	Traffic Control Supervisor	100		\$44.00	\$4,400.00	\$80.00	\$8,000.00	\$46.20	\$4,620.00	\$50.00	\$5,000.00		\$6,100.00
	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$50,000.00	\$50,000.00	\$877.39	\$877.39	\$500.00	\$500.00		\$5,680.00
	Portable Changeable Message Sign (PCMS)	21		\$60.00	\$1,260.00	\$110.00	\$2,310.00		\$2,005.50	\$75.00	\$1,575.00		\$1,932.00
	Sequential Arrow Sign (SAS)	21		\$20.00	\$420.00	\$30.00	\$630.00	\$23.87	\$501.27	\$50.00	\$1,050.00	\$18.00	\$378.00
	Type III Barricade	8	EA	\$125.00	\$1,000.00	\$240.00	\$1,920.00	\$185.51	\$1,484.08	\$150.00	\$1,200.00	\$148.00	\$1,184.00
	Temporary Barrier	36		\$125.00	\$900.00	\$240.00	\$1,920.00	\$183.31	\$622.80	\$20.00	\$1,200.00	\$148.00	\$504.00
.0.00	SUB TOTAL	30		Ψ20.00	\$338,166.00	\$20.00	\$377,061.25	\$17.55	\$250,974.09	\$20.00	\$215,411.25	\$11.55	\$352,084.00
	9.5% sales tax				\$32,125.77		\$35,820.82		\$23,842.54		\$20,464.07		\$33,447.98
					\$370,291.77		\$412,882.07		\$274,816.63		\$235,875.32	1	\$385,531.98

		ı	ı		I		ı		1		1	
CITY OF KENT Green River Levee Temporary Flood Protection	BIDDER'S		Rodarte Constru	stion Inc	Tri-State Constr	ruction Inc	Lloyd Enterprise	se Inc	SCI Infrastructu	ıra IIC	Pivetta Brothers	Constr
BID DEADLINE: October 5, 2009	NAME AND		PO Box 1875	ction, mc.	PO Box 3686	uction, mc.	PO Box 3889	s, mc.	1508 Valentine		PO Box 370	CONST.
BID DEADLINE. October 5, 2009	ADDRESS	'	Auburn, WA 980	71_1975	Bellevue, WA 9	8000-3686	Federal Way, W.	V 08063	Pacific, WA 980		Sumner, WA 98	300
	ADDRESS		Aubuili, WA 980	771-1675	Bellevue, WA 9	8009-3080	rederal way, w.	A 76003	Pacific, WA 900	14 /	Sufficier, WA 96	3390
	Schedu	ule IA:		\$265,611.41		\$302,588.19		\$191,926.50		\$149,746.73		\$268,045.05
	Schedu			\$370,291.77		\$412,882.07		\$274,816.63		\$235,875.32		\$385,531.98
	Schedu			\$602,556.60		\$516,633.32		\$390,486.32		\$266,973.32		\$382,879.89
	Schedu			\$420,598.26		\$448,010.76		\$283,919.68		\$213,204.17		\$402,749.76
	Schedu			\$570,896.87		\$607,026.66		\$399,231.95		\$342,541.46		\$583,537.55
	Schedu	le IIC:		\$748,356.95		\$708,263.79		\$546,507.74		\$337,066.46		\$509,461.89
	Schedule			\$474,255.45		\$531,696.41		\$465,232.77		\$264,880.50		\$481,552.53
	Schedule			\$641,636.37		\$696,417.26		\$467,577.49		\$395,993.06		\$667,527.33
	Schedule			\$0.00		\$810,976.16		\$624,148.26		\$390,518.06		\$584,887.68
ITEM				TOTAL		TOTAL		TOTAL		TOTAL		TOTA
	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
SCHEDULE I - ALTERNATE C: S. 259TH ST - SR 167									1	****	1	
1002C Provide Sand, Fill, Load, Haul and Install Bulk Bag	·	EA	\$80.00	\$338,000.00	\$69.00	\$291,525.00	\$60.96	\$257,556.00	\$38.00	\$160,550.00	\$54.00	\$228,150.00
1003C Standard Sandbag	•	EA	\$32.00	\$135,200.00	\$6.25	\$26,406.25	\$4.49	\$18,970.25	\$0.25	\$1,056.25	\$4.00	\$16,900.00
1004C Clearing the Site		LS	\$1,000.00	\$1,000.00	\$8,500.00	\$8,500.00	\$1,029.30	\$1,029.30	\$2,000.00	\$2,000.00	\$7,754.00	\$7,754.00
1355C Minor Changes		CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
1360C Traffic Control Labor	·	HR	\$44.00	\$44,000.00	\$57.00	\$57,000.00	\$45.15	\$45,150.00	\$48.00	\$48,000.00	\$57.00	\$57,000.00
1365C Construction Signs Class A	240	SF	\$15.00	\$3,600.00	\$20.00	\$4,800.00	\$15.80	\$3,792.00	\$9.00	\$2,160.00	\$17.00	\$4,080.00
1370C Traffic Control Supervisor	100	HR	\$44.00	\$4,400.00	\$80.00	\$8,000.00	\$46.20	\$4,620.00	\$50.00	\$5,000.00	\$61.00	\$6,100.00
1375C Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$50,000.00	\$50,000.00	\$877.39	\$877.39	\$500.00	\$500.00	\$5,680.00	\$5,680.00
1380C Portable Changeable Message Sign (PCMS)		DAY	\$60.00	\$1,260.00	\$110.00	\$2,310.00	\$95.50	\$2,005.50	\$75.00	\$1,575.00	\$92.00	\$1,932.00
1385C Sequential Arrow Sign (SAS)		DAY	\$20.00	\$420.00	\$30.00	\$630.00	\$23.87	\$501.27	\$50.00	\$1,050.00	\$18.00	\$378.00
1390C Type III Barricade	8	EA	\$125.00	\$1,000.00	\$240.00	\$1,920.00	\$185.50	\$1,484.00	\$150.00	\$1,200.00	\$148.00	\$1,184.00
1395C Temporary Barrier	36	LF	\$25.00	\$900.00	\$20.00	\$720.00	\$17.30	\$622.80	\$20.00	\$720.00	\$14.00	\$504.00
SUB TOTAL				\$550,280.00		\$471,811.25		\$356,608.51		\$243,811.25		\$349,662.00
9.5% sales tax				\$52,276.60		\$44,822.07		\$33,877.81		\$23,162.07		\$33,217.89
SCHEDULE I - ALTERNATE C TOTAL				\$602,556.60		\$516,633.32		\$390,486.32		\$266,973.32		\$382,879.89
SCHEDULE II - ALTERNATE A: HAWLEY RD - S. 231ST S	Т											
2002A Haul and Install Bulk Bag	6,961	EA	\$41.00	\$285,401.00	\$36.00	\$250,596.00	\$21.37	\$148,756.57	\$21.75	\$151,401.75	\$40.00	\$278,440.00
2003A Standard Sandbag	6,961	EA	\$7.00	\$48,727.00	\$6.25	\$43,506.25	\$9.63	\$67,034.43	\$0.25	\$1,740.25	\$4.00	\$27,844.00
2004A Clearing the Site	1	LS	\$10,000.00	\$10,000.00	\$13,500.00	\$13,500.00	\$1,029.30	\$1,029.30	\$2,000.00	\$2,000.00	\$7,754.00	\$7,754.00
2355A Minor Changes	1 (CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
2360A Traffic Control Labor	200	HR	\$44.00	\$8,800.00	\$57.00	\$11,400.00	\$45.15	\$9,030.00	\$48.00	\$9,600.00	\$57.00	\$11,400.00
2365A Construction Signs Class A	480	SF	\$15.00	\$7,200.00	\$20.00	\$9,600.00	\$15.80	\$7,584.00	\$9.00	\$4,320.00	\$17.00	\$8,160.00
2370A Traffic Control Supervisor	100	HR	\$44.00	\$4,400.00	\$80.00	\$8,000.00	\$46.20	\$4,620.00	\$50.00	\$5,000.00	\$61.00	\$6,100.00
2375A Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$51,000.00	\$51,000.00	\$877.39	\$877.39	\$500.00	\$500.00	\$8,520.00	\$8,520.00
2380A Portable Changeable Message Sign (PCMS)	21	DAY	\$60.00	\$1,260.00	\$110.00	\$2,310.00	\$95.50	\$2,005.50	\$75.00	\$1,575.00	\$92.00	\$1,932.00
2385A Sequential Arrow Sign (SAS)	21	DAY	\$20.00	\$420.00	\$30.00	\$630.00	\$23.87	\$501.27	\$50.00	\$1,050.00	\$18.00	\$378.00
2390A Type III Barricade	12	EA	\$125.00	\$1,500.00	\$240.00	\$2,880.00	\$185.51	\$2,226.12	\$150.00	\$1,800.00	\$148.00	\$1,776.00
2395A Temporary Barrier	36	LF	\$25.00	\$900.00	\$20.00	\$720.00	\$17.30	\$622.80	\$20.00	\$720.00	\$14.00	\$504.00
SUB TOTAL				\$384,108.00		\$409,142.25		\$259,287.38		\$194,707.00		\$367,808.00
9.5% sales tax				\$36,490.26		\$38,868.51		\$24,632.30		\$18,497.17		\$34,941.76
SCHEDULE II - ALTERNATE A TOTAL				\$420,598.26		\$448,010.76		\$283,919.68		\$213,204.17		\$402,749.76

	er Levee Temporary Flood Protection	BIDDER'	_										
BID DEAD		DIDDER	5	Rodarte Constru	iction, Inc.	Tri-State Constr	ruction, Inc.	Lloyd Enterprise	es, Inc.	SCI Infrastructu	re, LLC	Pivetta Brothers	Constr.
DID DEME	DLINE: October 5, 2009	NAME A		PO Box 1875		PO Box 3686		PO Box 3889		1508 Valentine A		PO Box 370	
		ADDRES	S	Auburn, WA 98	071-1875	Bellevue, WA 9	8009-3686	Federal Way, Wa	A 98063	Pacific, WA 980	47	Sumner, WA 98	3390
		Sche	dule IA	:	\$265,611.41		\$302,588.19		\$191,926.50		\$149,746.73		\$268,045.05
		Sche	dule IB	:	\$370,291.77		\$412,882.07		\$274,816.63		\$235,875.32		\$385,531.98
		Sche	dule IC	:	\$602,556.60		\$516,633.32		\$390,486.32		\$266,973.32		\$382,879.89
		Sche	dule IIA	:	\$420,598.26		\$448,010.76		\$283,919.68		\$213,204.17		\$402,749.76
		Sche	dule IIB	:	\$570,896.87		\$607,026.66		\$399,231.95		\$342,541.46		\$583,537.55
		Schee	dule IIC	:	\$748,356.95		\$708,263.79		\$546,507.74		\$337,066.46		\$509,461.89
		Sched	ule IIIA	:	\$474,255.45		\$531,696.41		\$465,232.77		\$264,880.50		\$481,552.53
			ule IIIB		\$641,636.37		\$696,417.26		\$467,577.49		\$395,993.06		\$667,527.33
		Sched	ule IIIC		\$0.00		\$810,976.16		\$624,148.26		\$390,518.06		\$584,887.68
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN'
	LE II - ALTERNATE B: HAWLEY RD - S. 231ST		_										
	Fill, Load, Haul and Install Bulk Bag	6,961	EA	\$57.00	\$396,777.00	\$56.00	\$389,816.00	\$35.78	\$249,064.58	\$38.00	\$264,518.00	\$63.00	\$438,543.00
	Standard Sandbag	6,961	EA	\$10.00	\$69,610.00	\$6.25	\$43,506.25	\$9.63	\$67,034.43	\$0.25	\$1,740.25	\$4.00	\$27,844.00
	Clearing the Site	1	LS	\$10,000.00	\$10,000.00	\$13,500.00	\$13,500.00	\$1,029.30	\$1,029.30	\$2,000.00	\$2,000.00	\$7,754.00	\$7,754.00
	Minor Changes	1	CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
	Traffic Control Labor	200	HR SF	\$44.00	\$8,800.00	\$57.00	\$11,400.00	\$45.15	\$9,030.00	\$48.00	\$9,600.00	\$57.00 \$17.00	\$11,400.00
	Construction Signs Class A	480		\$15.00	\$7,200.00	\$20.00	\$9,600.00	\$15.80	\$7,584.00	\$9.00	\$4,320.00	\$17.00	\$8,160.00
	Traffic Control Supervisor Temporary Traffic Control Devices	100	HR LS	\$44.00 \$500.00	\$4,400.00 \$500.00	\$80.00 \$52,000.00	\$8,000.00 \$52,000.00	\$46.20 \$877.39	\$4,620.00 \$877.39	\$50.00 \$500.00	\$5,000.00	\$61.00 \$8.530.00	\$6,100.00 \$8,520.00
	Portable Changeable Message Sign (PCMS)	21	DAY	\$60.00	\$1,260.00	\$110.00	\$2,310.00	\$95.50	\$2,005.50	\$75.00	\$500.00 \$1,575.00	\$8,520.00 \$92.00	\$1,932.00
	Sequential Arrow Sign (SAS)	21	DAY	\$20.00	\$420.00	\$110.00	\$630.00	\$23.87	\$501.27	\$50.00	\$1,050.00	\$18.00	\$378.00
	Type III Barricade	12	EA	\$125.00	\$1,500.00	\$240.00	\$2,880.00	\$185.51	\$2,226.12	\$150.00	\$1,800.00	\$148.00	\$1,776.00
	Temporary Barrier	36	LF	\$25.00	\$900.00	\$20.00	\$720.00	\$17.30	\$622.80	\$20.00	\$720.00	\$14.00	\$504.00
	SUB TOTAL			1	\$521,367.00	1=0.00	\$554,362.25		\$364,595.39	7-2:	\$312,823.25	7	\$532,911.00
	9.5% sales tax				\$49,529.87		\$52,664.41		\$34,636.56		\$29,718.21		\$50,626.55
	SCHEDULE II - ALTERNATE B TOTAL				\$570,896.87		\$607,026.66		\$399,231.95		\$342,541.46		\$583,537.55
SCHEDUI	LE II - ALTERNATE C: HAWLEY RD - S. 231ST	ST											
2002C	Provide Sand, Fill, Load, Haul and Install Bulk Bag	6,961	EA	\$81.00	\$563,841.00	\$70.00	\$487,270.00	\$60.96	\$424,342.56	\$38.00	\$264,518.00	\$54.00	\$375,894.00
	Standard Sandbag	6,961	EA	\$10.00	\$69,610.00	\$6.25	\$43,506.25	\$4.49	\$31,254.89	\$0.25	\$1,740.25	\$4.00	\$27,844.00
2004C	Clearing the Site	1	LS	\$10,000.00	\$10,000.00	\$13,500.00	\$13,500.00	\$1,029.30	\$1,029.30	\$2,000.00	\$2,000.00	\$7,754.00	\$7,754.00
2355C	Minor Changes	1	CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
2360C	Traffic Control Labor	200	HR	\$44.00	\$8,800.00	\$57.00	\$11,400.00	\$45.15	\$9,030.00	\$48.00	\$9,600.00	\$57.00	\$11,400.00
2365C	Construction Signs Class A	480	SF	\$15.00	\$7,200.00	\$20.00	\$9,600.00	\$15.80	\$7,584.00	\$9.00	\$4,320.00	\$17.00	\$8,160.00
2370C	Traffic Control Supervisor	100	HR	\$44.00	\$4,400.00	\$80.00	\$8,000.00	\$46.20	\$4,620.00	\$50.00	\$5,000.00	\$61.00	\$6,100.00
	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$52,000.00	\$52,000.00	\$877.39	\$877.39	\$500.00	\$500.00	\$8,520.00	\$8,520.00
2380C	Portable Changeable Message Sign (PCMS)	21	DAY	\$60.00	\$1,260.00	\$110.00	\$2,310.00	\$95.50	\$2,005.50	\$75.00	\$1,575.00	\$92.00	\$1,932.00
	Sequential Arrow Sign (SAS)	21	DAY	\$20.00	\$420.00	\$30.00	\$630.00	\$23.87	\$501.27	\$50.00	\$1,050.00	\$18.00	\$378.00
	Type III Barricade	12	EA	\$125.00	\$1,500.00	\$240.00	\$2,880.00	\$185.51	\$2,226.12	\$150.00	\$1,800.00	\$148.00	\$1,776.00
	Temporary Barrier	36	LF	\$25.00	\$900.00	\$20.00	\$720.00	\$17.30	\$622.80	\$20.00	\$720.00	\$14.00	\$504.00
	SUB TOTAL				\$683,431.00		\$646,816.25		\$499,093.83		\$307,823.25		\$465,262.00
	9.5% sales tax SCHEDULE II - ALTERNATE C TOTAL				\$64,925.95 \$748,356.95		\$61,447.54 \$708,263.79		\$47,413.91 \$546,507.74		\$29,243.21 \$337,066.46		\$44,199.89 \$509,461.89

CITY OF KENT												
Green River Levee Temporary Flood Protection	BIDDER'S	F	Rodarte Constru	ction, Inc.	Tri-State Constr	ruction, Inc.	Lloyd Enterprise	s, Inc.	SCI Infrastructu	re, LLC	Pivetta Brothers	Constr.
BID DEADLINE: October 5, 2009	NAME AND	F	PO Box 1875		PO Box 3686		PO Box 3889		1508 Valentine	Ave. SE	PO Box 370	
	ADDRESS	A	Auburn, WA 98	071-1875	Bellevue, WA 9	8009-3686	Federal Way, W	A 98063	Pacific, WA 980	47	Sumner, WA 98	390
	Schedul	e ΙΔ·		\$265,611.41		\$302,588.19		\$191,926.50		\$149,746.73		\$268,045.05
	Schedul			\$370,291.77		\$412,882.07		\$274,816.63		\$235,875.32		\$385,531.98
	Schedul			\$602,556.60		\$516,633.32		\$390,486.32		\$266,973.32		\$382,879.89
	Schedule			\$420,598.26		\$448,010.76		\$283,919.68		\$213,204.17		\$402,749.76
	Schedule			\$420,596.26 \$570,896.87		\$607,026.66		\$399,231.95		\$342,541.46		\$583,537.55
	Schedule			\$748,356.95		\$708,263.79		\$546,507.74		\$337,066.46		\$509,461.89
	Schedule			\$474,255.45		\$531,696.41		\$465,232.77		\$264,880.50		\$481,552.53
								\$467,577.49		\$395,993.06		\$667,527.33
	Schedule			\$641,636.37 \$0.00		\$696,417.26 \$810,976.16				\$390,518.06		\$584,887.68
	Schedule	IIIC.		\$0.00		\$610,976.16		\$624,148.26		\$390,516.06		\$304,007.00
ITEM				TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	QUANTITY U	NIT l	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDULE III - ALTERNATE A: S. 231ST WAY - WVH	AT S. 182ND ST.											
3002A Haul and Install Bulk Bag	7,830 E	ΕA	\$40.00	\$313,200.00	\$36.00	\$281,880.00	\$35.78	\$280,157.40	\$21.75	\$170,302.50	\$40.00	\$313,200.00
3003A Standard Sandbag	7,830 E	ĒΑ	\$7.00	\$54,810.00	\$6.25	\$48,937.50	\$9.66	\$75,637.80	\$0.25	\$1,957.50	\$4.00	\$31,320.00
3004A Clearing the Site	1 I	_S	\$1,000.00	\$1,000.00	\$17,000.00	\$17,000.00	\$1,029.30	\$1,029.30	\$3,000.00	\$3,000.00	\$7,754.00	\$7,754.00
3355A Minor Changes	1 C/	ALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
3360A Traffic Control Labor	350 H	IR	\$44.00	\$15,400.00	\$57.00	\$19,950.00	\$45.15	\$15,802.50	\$48.00	\$16,800.00	\$57.00	\$19,950.00
3365A Construction Signs Class A	480	SF	\$15.00	\$7,200.00	\$20.00	\$9,600.00	\$15.80	\$7,584.00	\$9.00	\$4,320.00	\$17.00	\$8,160.00
3370A Traffic Control Supervisor	350 H	IR	\$44.00	\$15,400.00	\$80.00	\$28,000.00	\$46.20	\$16,170.00	\$50.00	\$17,500.00	\$61.00	\$21,350.00
3375A Temporary Traffic Control Devices	1 I	S	\$500.00	\$500.00	\$51,000.00	\$51,000.00	\$877.39	\$877.39	\$500.00	\$500.00	\$11,360.00	\$11,360.00
3380A Portable Changeable Message Sign (PCMS)	40 D	AY	\$60.00	\$2,400.00	\$110.00	\$4,400.00	\$95.26	\$3,810.40	\$75.00	\$3,000.00	\$92.00	\$3,680.00
3385A Sequential Arrow Sign (SAS)	40 D	AY	\$20.00	\$800.00	\$30.00	\$1,200.00	\$23.81	\$952.40	\$50.00	\$2,000.00	\$18.00	\$720.00
3390A Type III Barricade	12 E	ΞA	\$125.00	\$1,500.00	\$240.00	\$2,880.00	\$185.51	\$2,226.12	\$150.00	\$1,800.00	\$148.00	\$1,776.00
3395A Temporary Barrier	36 I	_F	\$25.00	\$900.00	\$20.00	\$720.00	\$17.30	\$622.80	\$20.00	\$720.00	\$14.00	\$504.00
SUB TOTAL				\$433,110.00		\$485,567.50		\$424,870.11		\$241,900.00		\$439,774.00
9.5% sales tax				\$41,145.45		\$46,128.91		\$40,362.66		\$22,980.50		\$41,778.53
SCHEDULE III - ALTERNATE A TOTAL				\$474,255.45		\$531,696.41		\$465,232.77		\$264,880.50		\$481,552.53
SCHEDULE III - ALTERNATE B: S. 231ST WAY - WVH	I AT S. 182ND ST.											
3002B Fill, Load, Haul and Install Bulk Bag		ΞA	\$57.00	\$446,310.00	\$57.00	\$446,310.00	\$35.78	\$280,157.40	\$38.00	\$297,540.00	\$63.00	\$493,290.00
3003B Standard Sandbag		ΞA	\$9.76	\$76,420.80	\$6.25	\$48,937.50	\$10.77	\$84,329.10	\$0.25	\$1,957.50	\$4.00	\$31,320.00
3004B Clearing the Site	·	S	\$1,170.90	\$1,170.90	\$17,000.00	\$17,000.00	\$1,029.30	\$1,029.30	\$3,000.00	\$3,000.00	\$7,754.00	\$7,754.00
3355B Minor Changes		ALC	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
3360B Traffic Control Labor	350 H	IR	\$51.44	\$18,004.00	\$57.00	\$19,950.00	\$45.15	\$15,802.50	\$48.00	\$16,800.00	\$57.00	\$19,950.00
3365B Construction Signs Class A		SF	\$18.09	\$8,683.20	\$20.00	\$9,600.00	\$15.80	\$7,584.00	\$9.00	\$4,320.00		\$8,160.00
3370B Traffic Control Supervisor	100 H	IR.	\$51.44	\$5,144.00	\$80.00	\$8,000.00	\$46.20	\$4,620.00	\$50.00	\$5,000.00	\$61.00	\$6,100.00
3375B Temporary Traffic Control Devices		S	\$592.35	\$592.35	\$52,000.00	\$52,000.00	\$877.39	\$877.39	\$500.00	\$500.00		\$11,360.00
3380B Portable Changeable Message Sign (PCMS)		AY	\$59.24	\$2,369.60	\$110.00	\$4,400.00	\$95.26	\$3,810.40	\$75.00	\$3,000.00	\$92.00	\$3,680.00
3385B Sequential Arrow Sign (SAS)		AY	\$21.32	\$852.80	\$30.00	\$1,200.00	\$23.81	\$952.40	\$50.00	\$2,000.00	\$18.00	\$720.00
3390B Type III Barricade		ΕA	\$118.47	\$1,421.64	\$240.00	\$2,880.00	\$185.51	\$2,226.12	\$150.00	\$1,800.00	\$148.00	\$1,776.00
3395B Temporary Barrier		_F	\$0.00	\$0.00	\$20.00	\$720.00	\$17.30	\$622.80	\$20.00	\$720.00	\$14.00	\$504.00
SUB TOTAL				\$585,969.29		\$635,997.50		\$427,011.41		\$361,637.50		\$609,614.00
9.5% sales tax				\$55,667.08		\$60,419.76		\$40,566.08		\$34,355.56		\$57,913.33
SCHEDULE III ALTERNATE B TOTAL				\$641,636.37		\$696,417.26		\$467,577.49		\$395,993.06		\$667,527.33

CITY OF KENT				ĺ						ĺ	
Green River Levee Temporary Flood Protection	BIDDER'	'S	Rodarte Construction, Inc.	Tri-State Const	ruction, Inc.	Lloyd Enterprise	es, Inc.	SCI Infrastructu	ıre, LLC	Pivetta Brothers	s Constr.
BID DEADLINE: October 5, 2009	NAME AI	ND	PO Box 1875	PO Box 3686		PO Box 3889		1508 Valentine	Ave. SE	PO Box 370	
	ADDRES	SS	Auburn, WA 98071-1875	Bellevue, WA	98009-3686	Federal Way, W	/A 98063	Pacific, WA 980	047	Sumner, WA 9	8390
	Sche	edule IA:	\$265,611.41		\$302,588.19		\$191,926.50		\$149,746.73		\$268,045.05
	Sche	edule IB:	\$370,291.77		\$412,882.07		\$274,816.63		\$235,875.32		\$385,531.98
	Sche	edule IC:	\$602,556.60		\$516,633.32		\$390,486.32		\$266,973.32		\$382,879.89
	Sche	dule IIA:	\$420,598.26		\$448,010.76		\$283,919.68		\$213,204.17		\$402,749.76
	Sche	dule IIB:	\$570,896.87		\$607,026.66		\$399,231.95		\$342,541.46		\$583,537.55
	Sche	dule IIC:	\$748,356.95		\$708,263.79		\$546,507.74		\$337,066.46		\$509,461.89
	Sched	dule IIIA:	\$474,255.45		\$531,696.41		\$465,232.77		\$264,880.50		\$481,552.53
	Sched	dule IIIB:	\$641,636.37		\$696,417.26		\$467,577.49		\$395,993.06		\$667,527.33
	Sched	lule IIIC:	\$0.00		\$810,976.16		\$624,148.26		\$390,518.06		\$584,887.68
ITEM			TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	QUANTITY	UNIT		UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT
SCHEDULE III - ALTERNATE C: S. 231ST WAY - WVH	AT S. 182ND ST.										
3002C Provide Sand, Fill, Load, Haul and Install Bulk Bag	7,830	EA	\$0.00	\$71.00	\$555,930.00	\$60.96	\$477,316.80	\$38.00	\$297,540.00	\$54.00	\$422,820.00
3003C Standard Sandbag	7,830	EA	\$0.00	\$6.25	\$48,937.50	\$4.49	\$35,156.70	\$0.25	\$1,957.50	\$4.00	\$31,320.00
3004C Clearing the Site	1	LS	\$0.00	\$17,000.00	\$17,000.00	\$1,029.30	\$1,029.30	\$3,000.00	\$3,000.00	\$7,754.00	\$7,754.00
3355C Minor Changes	1	CALC	\$0.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
3360C Traffic Control Labor	350	HR	\$0.00	\$57.00	\$19,950.00	\$45.15	\$15,802.50	\$48.00	\$16,800.00	\$57.00	\$19,950.00
3365C Construction Signs Class A	480	SF	\$0.00	\$20.00	\$9,600.00	\$15.80	\$7,584.00	\$9.00	\$4,320.00	\$17.00	\$8,160.00
3370C Traffic Control Supervisor	100	HR	\$0.00	\$80.00	\$8,000.00	\$46.20	\$4,620.00	\$50.00	\$5,000.00	\$61.00	\$6,100.00
3375C Temporary Traffic Control Devices	1	LS	\$0.00	\$52,000.00	\$52,000.00	\$877.39	\$877.39	\$500.00	\$500.00	\$11,360.00	\$11,360.00
3380C Portable Changeable Message Sign (PCMS)	40	DAY	\$0.00	\$110.00	\$4,400.00	\$95.26	\$3,810.40	\$75.00	\$3,000.00	\$92.00	\$3,680.00
3385C Sequential Arrow Sign (SAS)	40	DAY	\$0.00	\$30.00	\$1,200.00	\$23.81	\$952.40	\$50.00	\$2,000.00	\$18.00	\$720.00
3390C Type III Barricade	12	EA	\$0.00	\$240.00	\$2,880.00	\$185.51	\$2,226.12	\$150.00	\$1,800.00	\$148.00	\$1,776.00
3395C Temporary Barrier	36	LF	\$0.00	\$20.00	\$720.00	\$17.30	\$622.80	\$20.00	\$720.00	\$14.00	\$504.00
SUB TOTAL			\$0.00		\$740,617.50		\$569,998.41		\$356,637.50		\$534,144.00
9.5% sales tax			\$0.00		\$70,358.66		\$54,149.85		\$33,880.56		\$50,743.68
SCHEDULE III ALTERNATE C TOTAL			\$0.00		\$810,976.16		\$624,148.26		\$390,518.06		\$584,887.68
SUMMARY											
Total Schedule I - Alternate A			\$265,611.41		\$302,588.19		\$191,926.50		\$149,746.73		\$268,045.05
Tolal Schedule I - Alternate B			\$370,291.77		\$412,882.07		\$274,816.63		\$235,875.32		\$385,531.98
Total Schedule I - Alternate C			\$602,556.60		\$516,633.32		\$390,486.32		\$266,973.32		\$382,879.89
Total Schedule II - Alternate A			\$420,598.26		\$448,010.76		\$283,919.68		\$213,204.17		\$402,749.76
Total Schedule II - Alternate B			\$570,896.87		\$607,026.66		\$399,231.95		\$342,541.46		\$583,537.55
Total Schedule II - Alternate C			\$748,356.95		\$708,263.79		\$546,507.74		\$337,066.46		\$509,461.89
Tolal Schedule III - Alternate A			\$474,255.45		\$531,696.41		\$465,232.77		\$264,880.50		\$481,552.53
Total Schedule III - Alternate B			\$641,636.37		\$696,417.26		\$467,577.49		\$395,993.06		\$667,527.33
Total Schedule III - Alternate C			\$0.00		\$810,976.16		\$624,148.26		\$390,518.06		\$584,887.68

CITY OF	KENT							1				
Green Riv	ver Levee Temporary Flood Protection	BIDDER'	S	Fardig Developm	nent, Inc.	Olson Bros. Exc	avating, Inc.	Interwest Const	. & Dev.	Scotty's General Constr.	McCann Constru	ıction
BID DEAD	DLINE: October 5, 2009	NAME A	ND	1809 Tacoma Po	oint Dr. E.	6622 112th St.	E.	28201 Highway	410 E.	20405 SE 344th St.	PO Box 481	
		ADDRES	S	Lake Tapps, WA	98391	Puyallup, WA 9	8373	Buckley, WA 98	3321	Auburn, WA 98092	Renton, WA 98	057
		Sche	edule IA:	:	\$119,762.89		\$267,981.81		\$177,563.24	\$0.00		\$397,276.40
			dule IB		\$155,719.28		\$399,217.56		\$247,268.20	\$0.00		\$487,892.58
			dule IC:		\$273,845.51		\$482,495.05		\$292,153.35	\$0.00		\$592,364.89
			dule IIA		\$161,451.03		\$324,068.21		\$256,349.89	\$746,734.43		\$622,910.48
			dule IIB:		\$224,936.48		\$533,820.71		\$358,628.04	\$1,055,195.66		\$785,165.85
			dule IIC		\$322,608.76		\$632,390.04		\$382,117.76	\$746,734.43		\$875,056.00
			ule IIIA		\$197,018.29		\$405,719.40		\$323,864.87	\$0.00		\$724,671.66
			ule IIIB		\$256,685.72		\$619,450.81		\$425,857.00	\$0.00		\$864,648.35
			ule IIIC		\$393,107.93		\$695,427.38		\$452,962.63	\$0.00		\$995,154.62
		Scried	uic iiio		\$373,107.73		\$075,427.50		ψ 4 32,702.03	\$0.00		\$773,134.02
ITEM					TOTAL		TOTAL		TOTAL	TOTA		TOTA
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUN	UNIT PRICE	AMOUN
SCHEDU	LE I - ALTERNATE A: S. 259TH ST - SR 167											
1002A	Haul and Install Bulk Bag	4,225	EA	\$15.58	\$65,825.50	\$42.40	\$179,140.00	\$23.10	\$97,597.50	\$0.00	\$66.42	\$280,624.50
1003A	Standard Sandbag	4,225	EA	\$1.53	\$6,464.25	\$2.25	\$9,506.25	\$4.06	\$17,153.50	\$0.00	\$4.40	\$18,590.00
1004A	Clearing the Site	1	LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$5,077.50	\$5,077.50	\$0.00	\$13,330.00	\$13,330.00
1355A	Minor Changes	1	CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$0.00	\$20,000.00	\$20,000.00
1360A	Traffic Control Labor	200	HR	\$47.59	\$9,518.00	\$50.00	\$10,000.00	\$43.67	\$8,734.00	\$0.00	\$48.00	\$9,600.00
1365A	Construction Signs Class A	240	SF	\$5.00	\$1,200.00	\$8.00	\$1,920.00	\$10.16	\$2,438.40	\$0.00	\$20.00	\$4,800.00
1370A	Traffic Control Supervisor	100	HR	\$9.27	\$927.00	\$52.00	\$5,200.00	\$45.19	\$4,519.00	\$0.00	\$48.00	\$4,800.00
1375A	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$2,168.00	\$2,168.00	\$0.00	\$4,500.00	\$4,500.00
1380A	Portable Changeable Message Sign (PCMS)	21	DAY	\$75.60	\$1,587.60	\$100.00	\$2,100.00	\$114.24	\$2,399.04	\$0.00	\$120.00	\$2,520.00
1385A	Sequential Arrow Sign (SAS)	21	DAY	\$16.67	\$350.07	\$30.00	\$630.00	\$58.39	\$1,226.19	\$0.00	\$65.00	\$1,365.00
1390A	Type III Barricade	8	EA	\$125.00	\$1,000.00	\$350.00	\$2,800.00	\$50.78	\$406.24	\$0.00	\$200.00	\$1,600.00
1395A	Temporary Barrier	36	LF	\$27.78	\$1,000.08	\$26.00	\$936.00	\$12.19	\$438.84	\$0.00	\$30.00	\$1,080.00
	SUB TOTAL				\$109,372.50		\$244,732.25		\$162,158.21	\$0.00		\$362,809.50
	9.5% sales tax				\$10,390.39		\$23,249.56		\$15,405.03	\$0.00		\$34,466.90
	SCHEDULE I - ALTERNATE A TOTAL				\$119,762.89		\$267,981.81		\$177,563.24	\$0.00		\$397,276.40
SCHEDU	LE I - ALTERNATE B: S. 259TH ST - SR 167											
1002B	Fill, Load, Haul and Install Bulk Bag	4,225	EA	\$21.35	\$90,203.75	\$68.40	\$288,990.00	\$35.80	\$151,255.00	\$0.00	\$83.64	\$353,379.00
1003B	Standard Sandbag	4,225	EA	\$1.60	\$6,760.00	\$2.25	\$9,506.25	\$4.06	\$17,153.50	\$0.00	\$4.40	\$18,590.00
1004B	Clearing the Site	1	LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$5,077.50	\$5,077.50	\$0.00	\$13,330.00	\$13,330.00
1355B	Minor Changes	1	CALC	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$0.00	\$30,000.00	\$30,000.00
1360B	Traffic Control Labor	200	HR	\$37.39	\$7,478.00	\$50.00	\$10,000.00	\$43.67	\$8,734.00	\$0.00	\$48.00	\$9,600.00
1365B	Construction Signs Class A	240	SF	\$2.08	\$499.20	\$8.00	\$1,920.00	\$10.16	\$2,438.40	\$0.00	\$20.00	\$4,800.00
1370B	Traffic Control Supervisor	100	HR	\$13.62	\$1,362.00	\$52.00	\$5,200.00	\$45.19	\$4,519.00	\$0.00	\$48.00	\$4,800.00
1375B	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$2,168.00	\$2,168.00	\$0.00	\$4,500.00	\$4,500.00
1380B	Portable Changeable Message Sign (PCMS)	21	DAY	\$86.01	\$1,806.21	\$100.00	\$2,100.00	\$114.24	\$2,399.04	\$0.00	\$120.00	\$2,520.00
1385B	Sequential Arrow Sign (SAS)	21	DAY	\$57.15	\$1,200.15	\$30.00	\$630.00	\$58.39	\$1,226.19	\$0.00	\$65.00	\$1,365.00
1390B	Type III Barricade	8	EA	\$50.00	\$400.00	\$350.00	\$2,800.00	\$50.78	\$406.24	\$0.00	\$200.00	\$1,600.00
1395B	Temporary Barrier	36	LF	\$27.78	\$1,000.08	\$26.00	\$936.00	\$12.19	\$438.84	\$0.00	\$30.00	\$1,080.00
	SUB TOTAL				\$142,209.39		\$364,582.25		\$225,815.71	\$0.00		\$445,564.00
	9.5% sales tax				\$13,509.89		\$34,635.31		\$21,452.49	\$0.00		\$42,328.58
	SCHEDULE I - ALTERNATE B TOTAL				\$155,719.28		\$399,217.56		\$247,268.20	\$0.00		\$487,892.58

CITY OF KENT											
Green River Levee Temporary Flood Protection	BIDDER'S	Fardig Developn	nent, Inc.	Olson Bros. Exc	avating, Inc.	Interwest Const		Scotty's Genera	l Constr.	McCann Constru	ction
BID DEADLINE: October 5, 2009	NAME AND	1809 Tacoma Po	oint Dr. E.	6622 112th St.	E.	28201 Highway	410 E.	20405 SE 344th	St.	PO Box 481	
	ADDRESS	Lake Tapps, WA	98391	Puyallup, WA 9	8373	Buckley, WA 98	3321	Auburn, WA 98	092	Renton, WA 980)57
	Schedule IA:		\$119,762.89		\$267,981.81		\$177,563.24		\$0.00		\$397,276.40
	Schedule IB:		\$155,719.28		\$399,217.56		\$247,268.20		\$0.00		\$487,892.58
	Schedule IC:		\$273,845.51		\$482,495.05		\$292,153.35		\$0.00		\$592,364.89
	Schedule IIA:		\$161,451.03		\$324,068.21		\$256,349.89		\$746,734.43		\$622,910.48
	Schedule IIB:		\$224,936.48		\$533,820.71		\$358,628.04		\$1,055,195.66		\$785,165.85
	Schedule IIC:		\$322,608.76		\$632,390.04		\$382,117.76		\$746,734.43		\$875,056.00
	Schedule IIIA:		\$197,018.29		\$405,719.40		\$323,864.87		\$0.00		\$724,671.66
	Schedule IIIB:		\$256,685.72		\$619,450.81		\$425,857.00		\$0.00		\$864,648.35
			\$393,107.93		\$695,427.38		\$452,962.63		\$0.00		\$995,154.62
	Schedule IIIC:		\$393,107.93		\$695,427.36		\$452,962.65		\$0.00		\$995,154.62
TEM			TOTAL		TOTAL	-	TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	QUANTITY UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDULE I - ALTERNATE C: S. 259TH ST - SR 167											
1002C Provide Sand, Fill, Load, Haul and Install Bulk Bag	g 4,225 EA	\$40.40	\$170,690.00	\$79.30	\$335,042.50	\$39.60	\$167,310.00		\$0.00	\$99.50	\$420,387.50
1003C Standard Sandbag	4,225 EA	\$1.60	\$6,760.00	\$2.25	\$9,506.25	\$4.06	\$17,153.50		\$0.00	\$4.40	\$18,590.00
1004C Clearing the Site	1 LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$5,077.50	\$5,077.50		\$0.00	\$13,330.00	\$13,330.00
1355C Minor Changes	1 CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00		\$0.00	\$20,000.00	\$20,000.00
1360C Traffic Control Labor	1,000 HR	\$44.87	\$44,870.00	\$50.00	\$50,000.00	\$43.67	\$43,670.00		\$0.00	\$48.00	\$48,000.00
1365C Construction Signs Class A	240 SF	\$2.08	\$499.20	\$8.00	\$1,920.00	\$10.16	\$2,438.40		\$0.00	\$20.00	\$4,800.00
1370C Traffic Control Supervisor	100 HR	\$13.62	\$1,362.00	\$52.00	\$5,200.00	\$45.19	\$4,519.00		\$0.00	\$48.00	\$4,800.00
1375C Temporary Traffic Control Devices	1 LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$2,168.00	\$2,168.00		\$0.00	\$4,500.00	\$4,500.00
1380C Portable Changeable Message Sign (PCMS)	21 DAY	\$86.00	\$1,806.00	\$100.00	\$2,100.00	\$114.24	\$2,399.04		\$0.00	\$120.00	\$2,520.00
1385C Sequential Arrow Sign (SAS)	21 DAY	\$57.14	\$1,199.94	\$30.00	\$630.00	\$58.39	\$1,226.19		\$0.00	\$65.00	\$1,365.00
1390C Type III Barricade	8 EA	\$50.00	\$400.00	\$350.00	\$2,800.00	\$50.78	\$406.24		\$0.00	\$200.00	\$1,600.00
1395C Temporary Barrier	36 LF	\$27.78	\$1,000.08	\$26.00	\$936.00	\$12.19	\$438.84		\$0.00	\$30.00	\$1,080.00
SUB TOTAL			\$250,087.22		\$440,634.75		\$266,806.71		\$0.00		\$540,972.50
9.5% sales tax			\$23,758.29		\$41,860.30		\$25,346.64		\$0.00		\$51,392.39
SCHEDULE I - ALTERNATE C TOTAL			\$273,845.51		\$482,495.05		\$292,153.35		\$0.00		\$592,364.89
SCHEDULE II - ALTERNATE A: HAWLEY RD - S. 231S1	r ST										
2002A Haul and Install Bulk Bag	6,961 EA	\$15.03	\$104,623.83	\$32.45	\$225,884.45	\$23.10	\$160,799.10	\$81.25	\$565,581.25	\$66.42	\$462,349.62
2003A Standard Sandbag	6,961 EA	\$1.48	\$10,302.28	\$2.25	\$15,662.25	\$4.06	\$28,261.66	\$8.00	\$55,688.00	\$4.40	\$30,628.40
2004A Clearing the Site	1 LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$5,077.50	\$5,077.50	\$4,500.00	\$4,500.00	\$22,025.00	\$22,025.00
2355A Minor Changes	1 CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
2360A Traffic Control Labor	200 HR	\$40.79	\$8,158.00	\$50.00	\$10,000.00	\$43.67	\$8,734.00	\$58.00	\$11,600.00	\$48.00	\$9,600.00
2365A Construction Signs Class A	480 SF	\$5.00	\$2,400.00	\$8.00	\$3,840.00	\$10.16	\$4,876.80	\$8.00	\$3,840.00	\$20.00	\$9,600.00
2370A Traffic Control Supervisor	100 HR	\$10.22	\$1,022.00	\$52.00	\$5,200.00	\$45.19	\$4,519.00	\$65.00	\$6,500.00	\$48.00	\$4,800.00
2375A Traffic Control Devices	1 LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$2,168.00	\$2,168.00	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00
2380A Portable Changeable Message Sign (PCMS)	21 DAY	\$75.60	\$1,587.60	\$2,300.00	\$2,100.00	\$114.24	\$2,399.04	\$2,500.00	\$5,250.00	\$1,300.00	\$2,520.00
2385A Sequential Arrow Sign (SAS)	21 DAY	\$16.67	\$350.07	\$30.00	\$630.00	\$58.39	\$1,226.19	\$90.00	\$1,890.00	\$65.00	\$1,365.00
2390A Type III Barricade	12 EA	\$125.00	\$1,500.00	\$350.00	\$4,200.00	\$50.78	\$609.36	\$500.00	\$6,000.00	\$200.00	\$2,400.00
2395A Type III Barricade 2395A Temporary Barrier	36 LF	\$125.00	\$1,000.00	\$26.00	\$936.00	\$12.19	\$438.84	\$100.00	\$3,600.00	\$30.00	\$1,080.00
SUB TOTAL	JU LF	ΨΖ1.10	\$1,000.08	Ψ20.00	\$295,952.70	Ψ12.17	\$234,109.49	φ100.00	\$681,949.25	Ψ30.00	\$568,868.02
9.5% sales tax			\$14,007.17		\$295,952.70 \$28,115.51		\$234,109.49		\$64,785.18		\$54,042.46
7.370 Saics tax		1	φ14,007.17		φ20,110.51		\$256,349.89		\$746,734.43		\$54,U42.40

CITY OF	KENT					1							
Green Riv	er Levee Temporary Flood Protection	BIDDER'	S	Fardig Developr	nent, Inc.	Olson Bros. Exc	avating, Inc.	Interwest Const	t. & Dev.	Scotty's Genera	al Constr.	McCann Constr	uction
BID DEAD	LINE: October 5, 2009	NAME AN		1809 Tacoma Po		6622 112th St.		28201 Highway		20405 SE 344t		PO Box 481	
		ADDRES	S	Lake Tapps, WA	98391	Puyallup, WA 9	8373	Buckley, WA 98	8321	Auburn, WA 98	8092	Renton, WA 98	3057
		Sche	edule IA	:	\$119,762.89		\$267,981.81		\$177,563.24		\$0.00		\$397,276.40
		Sche	edule IB	:	\$155,719.28		\$399,217.56		\$247,268.20		\$0.00		\$487,892.58
		Sche	edule IC	:	\$273,845.51		\$482,495.05		\$292,153.35		\$0.00		\$592,364.89
		Sched	dule IIA	:	\$161,451.03		\$324,068.21		\$256,349.89		\$746,734.43		\$622,910.48
		Sched	dule IIB	i.	\$224,936.48		\$533,820.71		\$358,628.04		\$1,055,195.66		\$785,165.85
		Sched	dule IIC	:	\$322,608.76		\$632,390.04		\$382,117.76		\$746,734.43		\$875,056.00
		Sched	ule IIIA	:	\$197,018.29		\$405,719.40		\$323,864.87		\$0.00		\$724,671.66
		Sched	ule IIIB	:	\$256,685.72		\$619,450.81		\$425,857.00		\$0.00		\$864,648.35
		Sched	ule IIIC	:	\$393,107.93		\$695,427.38		\$452,962.63		\$0.00		\$995,154.62
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.		QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
	E II - ALTERNATE B: HAWLEY RD - S. 231ST S												
	Fill, Load, Haul and Install Bulk Bag	6,961	EA	\$22.68	\$157,875.48	\$59.25	\$412,439.25	\$35.80	\$249,203.80	\$121.00	\$842,281.00	\$83.64	\$582,218.04
	Standard Sandbag	6,961	EA	\$1.54	\$10,719.94	\$2.25	\$15,662.25	\$4.06	\$28,261.66	\$8.00	\$55,688.00	\$4.40	\$30,628.40
	Clearing the Site	1	LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$5,077.50	\$5,077.50	\$4,500.00	\$4,500.00	\$22,025.00	\$22,025.00
	Minor Changes	1	CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
	Traffic Control Labor	200	HR	\$40.79	\$8,158.00	\$50.00	\$10,000.00	\$43.67	\$8,734.00	\$58.00	\$11,600.00	\$48.00	\$9,600.00
	Construction Signs Class A	480	SF	\$2.50	\$1,200.00	\$8.00	\$3,840.00	\$10.16	\$4,876.80	\$8.00	\$3,840.00	\$20.00	\$9,600.00
	Traffic Control Supervisor	100	HR	\$13.62	\$1,362.00	\$52.00	\$5,200.00	\$45.19	\$4,519.00	\$65.00	\$6,500.00	\$48.00	\$4,800.00
	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$2,168.00	\$2,168.00	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00
	Portable Changeable Message Sign (PCMS)	21	DAY	\$86.00	\$1,806.00	\$100.00	\$2,100.00	\$114.24	\$2,399.04	\$250.00	\$5,250.00	\$1,230.00	\$25,830.00
	Sequential Arrow Sign (SAS)	21	DAY	\$57.14	\$1,199.94	\$30.00	\$630.00	\$58.39	\$1,226.19	\$90.00	\$1,890.00	\$65.00	\$1,365.00
	Type III Barricade	12	EA	\$50.00	\$600.00	\$350.00	\$4,200.00	\$50.78	\$609.36	\$500.00	\$6,000.00	\$200.00	\$2,400.00
	Temporary Barrier	36	LF	\$27.78	\$1,000.08	\$26.00	\$936.00	\$12.19	\$438.84	\$100.00	\$3,600.00	\$30.00	\$1,080.00
	SUB TOTAL				\$205,421.44 \$19,515.04		\$487,507.50		\$327,514.19		\$963,649.00		\$717,046.44 \$68,119.41
	9.5% sales tax						\$46,313.21		\$31,113.85		\$91,546.66		
	SCHEDULE II - ALTERNATE B TOTAL				\$224,936.48		\$533,820.71		\$358,628.04		\$1,055,195.66		\$785,165.85
	LE II - ALTERNATE C: HAWLEY RD - S. 231ST S			10/04						+			
	Provide Sand, Fill, Load, Haul and Install Bulk Bag	6,961	EA	\$36.31	\$252,753.91	\$72.90	\$507,456.90	\$39.60	\$275,655.60	\$81.25	\$565,581.25	\$99.50	\$692,619.50
	Standard Sandbag	6,961	EA	\$1.54	\$10,719.94	\$2.25	\$15,662.25	\$4.06	\$28,261.66	\$8.00	\$55,688.00	\$4.40	\$30,628.40
	Clearing the Site	1	LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$5,077.50	\$5,077.50	\$4,500.00	\$4,500.00	\$22,025.00	\$22,025.00
	Minor Changes	1	CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
	Traffic Control Labor	200	HR	\$37.39	\$7,478.00	\$50.00	\$10,000.00	\$43.67	\$8,734.00	\$58.00	\$11,600.00	\$48.00	\$9,600.00
	Construction Signs Class A Traffic Control Supervisor	480 100	SF HR	\$2.50 \$13.62	\$1,200.00 \$1,362.00	\$8.00 \$52.00	\$3,840.00 \$5,200.00	\$10.16 \$45.19	\$4,876.80 \$4,519.00	\$8.00 \$65.00	\$3,840.00 \$6,500.00	\$20.00 \$48.00	\$9,600.00 \$4,800.00
	•	100							• •		•		\$4,800.00 \$7,500.00
	Temporary Traffic Control Devices Portable Changeable Message Sign (PCMS)	21	LS DAY	\$500.00 \$86.00	\$500.00 \$1,806.00	\$2,500.00 \$100.00	\$2,500.00 \$2,100.00	\$2,168.00 \$114.24	\$2,168.00 \$2,399.04	\$2,500.00 \$250.00	\$2,500.00 \$5,250.00	\$7,500.00 \$120.00	\$7,500.00
	Sequential Arrow Sign (SAS)		DAY	\$57.14	\$1,199.94	\$100.00	\$2,100.00	\$114.24	\$2,399.04 \$1,226.19	\$250.00	\$5,250.00 \$1,890.00	\$120.00 \$65.00	\$2,520.00 \$1,365.00
	Sequential Arrow Sign (SAS) Type III Barricade	21 12	EA	\$57.14 \$50.00	\$600.00	\$30.00	\$4,200.00	\$58.39 \$50.78	\$1,226.19 \$609.36	\$500.00	\$6,000.00	\$65.00	\$1,365.00
	Temporary Barrier	36	LF	\$27.78	\$1,000.08	\$350.00	\$936.00	\$12.19	\$438.84	\$100.00	\$3,600.00	\$30.00	\$1,080.00
	SUB TOTAL	30		\$27.75	\$294,619.87	\$20.00	\$577,525.15	412.17	\$348,965.99	Ţ.00.00	\$681,949.25	\$50.00	\$799,137.90
	9.5% sales tax				\$27,988.89		\$54,864.89		\$33,151.77		\$64,785.18		\$75,918.10
	SCHEDULE II - ALTERNATE C TOTAL				\$322,608.76	1	\$632,390.04		\$382,117.76		\$746,734.43		\$875,056.00

CITY OF K	CENT											
	er Levee Temporary Flood Protection	BIDDER'S	Fardig Developr		Olson Bros. Exc	-	Interwest Const		Scotty's General Con	istr.	McCann Constru	ction
BID DEADL	INE: October 5, 2009	NAME AND	1809 Tacoma Po		6622 112th St.		28201 Highway		20405 SE 344th St.		PO Box 481	
		ADDRESS	Lake Tapps, WA	98391	Puyallup, WA 9	8373	Buckley, WA 98	3321	Auburn, WA 98092		Renton, WA 98	057
		Schedule IA	:	\$119,762.89		\$267,981.81		\$177,563.24		\$0.00		\$397,276.40
		Schedule IB	:	\$155,719.28		\$399,217.56		\$247,268.20		\$0.00		\$487,892.58
		Schedule IC	:	\$273,845.51		\$482,495.05		\$292,153.35		\$0.00		\$592,364.89
		Schedule IIA	:	\$161,451.03		\$324,068.21		\$256,349.89		\$746,734.43		\$622,910.48
		Schedule IIB	:	\$224,936.48		\$533,820.71		\$358,628.04	\$1	1,055,195.66		\$785,165.85
		Schedule IIC	:	\$322,608.76		\$632,390.04		\$382,117.76		\$746,734.43		\$875,056.00
		Schedule IIIA	:	\$197,018.29		\$405,719.40		\$323,864.87		\$0.00		\$724,671.66
		Schedule IIIB	:	\$256,685.72		\$619,450.81		\$425,857.00		\$0.00		\$864,648.35
		Schedule IIIC	:	\$393,107.93		\$695,427.38		\$452,962.63		\$0.00		\$995,154.62
ITEM				TOTAL	-	TOTAL		TOTAL	-	TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN [*]
SCHEDUL	E III - ALTERNATE A: S. 231ST WAY - WVI											
	laul and Install Bulk Bag	7,830 EA	\$15.03	\$117,684.90	\$34.55	\$270,526.50	\$23.10	\$180,873.00		\$0.00	\$66.42	\$520,068.60
	standard Sandbag	7,830 EA	\$1.58	\$12,371.40	\$2.25	\$17,617.50	\$4.06	\$31,789.80		\$0.00	\$4.40	\$34,452.00
	Clearing the Site	1 LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$12,186.00	\$12,186.00		\$0.00	\$24,700.00	\$24,700.00
	linor Changes	1 CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00		\$0.00	\$20,000.00	\$20,000.00
	raffic Control Labor	350 HR	\$47.59	\$16,656.50	\$50.00	\$17,500.00	\$43.67	\$15,284.50		\$0.00	\$48.00	\$16,800.00
	Construction Signs Class A	480 SF	\$2.50	\$1,200.00	\$8.00	\$3,840.00	\$10.16	\$4,876.80		\$0.00	\$20.00	\$9,600.00
	raffic Control Supervisor	350 HR	\$11.35	\$3,972.50	\$52.00	\$18,200.00	\$45.19	\$15,816.50		\$0.00	\$48.00	\$16,800.00
	emporary Traffic Control Devices	1 LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$6,987.00	\$6,987.00		\$0.00	\$8,500.00	\$8,500.00
	ortable Changeable Message Sign (PCMS)	40 DAY	\$86.00	\$3,440.00	\$100.00	\$4,000.00	\$114.24	\$4,569.60		\$0.00	\$120.00	\$4,800.00
	Sequential Arrow Sign (SAS)	40 DAY	\$37.50	\$1,500.00	\$30.00	\$1,200.00	\$58.39	\$2,335.60		\$0.00	\$65.00	\$2,600.00
	ype III Barricade	12 EA	\$50.00	\$600.00	\$350.00	\$4,200.00	\$50.78	\$609.36		\$0.00	\$200.00	\$2,400.00
	emporary Barrier	36 LF	\$27.78	\$1,000.08	\$26.00	\$936.00	\$12.19	\$438.84		\$0.00	\$30.00	\$1,080.00
	GUB TOTAL 2.5% sales tax			\$179,925.38 \$17,092.91		\$370,520.00 \$35,199.40		\$295,767.00 \$28,097.87		\$0.00 \$0.00		\$661,800.60 \$62,871.06
	SCHEDULE III - ALTERNATE A TOTAL			\$17,092.91 \$197,018.29		\$405,719.40		\$323,864.87		\$0.00 \$0.00		\$724,671.66
3	CHEDOLE III - ALTERNATE A TOTAL			\$197,016.29		\$405,719.40		\$323,004.07		\$0.00		\$724,071.00
	E III - ALTERNATE B: S. 231ST WAY - WVI	H AT S. 182ND ST.										
	ill, Load, Haul and Install Bulk Bag	7,830 EA	\$22.14	\$173,356.20	\$60.50	\$473,715.00	\$35.80	\$280,314.00		\$0.00	\$83.64	\$654,901.20
	standard Sandbag	7,830 EA	\$1.58	\$12,371.40	\$2.25	\$17,617.50	\$4.06	\$31,789.80		\$0.00	\$4.40	\$34,452.00
	Clearing the Site	1 LS	\$1,000.00	\$1,000.00		\$10,000.00	\$12,186.00	\$12,186.00		\$0.00	\$24,700.00	\$24,700.00
	Minor Changes	1 CALC	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00		\$0.00	\$25,000.00	\$25,000.00
	raffic Control Labor	350 HR	\$37.39	\$13,086.50	\$50.00	\$17,500.00	\$43.67	\$15,284.50		\$0.00	\$48.00	\$16,800.00
	Construction Signs Class A	480 SF	\$2.50	\$1,200.00	\$8.00	\$3,840.00	\$10.16	\$4,876.80		\$0.00	\$20.00	\$9,600.00
	raffic Control Supervisor	100 HR	\$13.62	\$1,362.00		\$5,200.00	\$45.19	\$4,519.00		\$0.00	\$48.00	\$4,800.00
	emporary Traffic Control Devices	1 LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$6,987.00	\$6,987.00		\$0.00	\$8,500.00	\$8,500.00
	ortable Changeable Message Sign (PCMS)	40 DAY	\$86.00	\$3,440.00	\$100.00	\$4,000.00	\$114.24	\$4,569.60		\$0.00	\$120.00	\$4,800.00
	Sequential Arrow Sign (SAS)	40 DAY	\$37.50	\$1,500.00	\$30.00	\$1,200.00	\$58.39	\$2,335.60		\$0.00	\$65.00	\$2,600.00
	ype III Barricade emporary Barrier	12 EA 36 LF	\$50.00 \$27.78	\$600.00 \$1,000.08	\$350.00 \$26.00	\$4,200.00 \$936.00	\$50.78 \$12.19	\$609.36 \$438.84		\$0.00 \$0.00	\$200.00 \$30.00	\$2,400.00 \$1,080.00
	emporary Barrier SUB TOTAL	30 LF	φ ∠ 1.16	\$234,416.18	\$∠0.00	\$565,708.50	\$12.19	\$438.84 \$388,910.50		\$0.00	φ30.00	\$1,080.00
	0.5% sales tax			\$234,416.18		\$505,708.50		\$388,910.50		\$0.00		\$789,633.20 \$75,015.15
	SCHEDULE III ALTERNATE B TOTAL			\$256,685.72		\$619,450.81		\$425,857.00		\$0.00 \$0.00		\$864,648.35

\$397,276.40 \$487,892.58 \$592,364.89 \$622,910.48 \$785,165.85 \$875,056.00 \$724,671.66 \$864,648.35 \$995,154.62
\$397,276.40 \$487,892.58 \$592,364.89 \$622,910.48 \$785,165.85 \$875,056.00 \$724,671.66 \$864,648.35 \$995,154.62
\$397,276.40 \$487,892.58 \$592,364.89 \$622,910.48 \$785,165.85 \$875,056.00 \$724,671.66 \$864,648.35 \$995,154.62
\$487,892.58 \$592,364.89 \$622,910.48 \$785,165.85 \$875,056.00 \$724,671.66 \$864,648.35 \$995,154.62
\$592,364.89 \$622,910.48 \$785,165.85 \$875,056.00 \$724,671.66 \$864,648.35 \$995,154.62
\$622,910.48 \$785,165.85 \$875,056.00 \$724,671.66 \$864,648.35 \$995,154.62
\$785,165.85 \$875,056.00 \$724,671.66 \$864,648.35 \$995,154.62
\$875,056.00 \$724,671.66 \$864,648.35 \$995,154.62
\$724,671.66 \$864,648.35 \$995,154.62
\$864,648.35 \$995,154.62
\$995,154.62
TOTAL
50 \$779,085.00
\$34,452.00
90 \$24,700.00
\$20,000.00
\$16,800.00
9,600.00
90 \$4,800.00
90 \$8,500.00
90 \$4,800.00
90 \$2,600.00
90 \$2,400.00
00 \$1,080.00
\$908,817.00
\$86,337.62
\$995,154.62
\$397,276.40
\$487,892.58
\$592,364.89
\$622,910.48
\$785,165.85
\$875,056.00
\$724,671.66
\$864,648.35
\$995,154.62
9.5 4.4 0.0 0.0 8.0 0.0 0.0 0.0 0.0 0.0

CITY OF	KENT										
Green Ri	ver Levee Temporary Flood Protection	BIDDER'	S	Scarsella Bros.,	Inc.	City Transfer Inc	c.	ICON Materials		Hos Bros. Const	ruction, Inc.
BID DEA	DLINE: October 5, 2009	NAME AN	ID	PO Box 68697		PO Box 1850		PO Box 88050		PO Box 1788	
		ADDRES	S	Seattle, WA 98	168-0697	Sumner, WA 98	3390	Tukwila, WA 98	3138-2050	Woodinville, WA	98072
		Sche	dule IA:		\$196,136.40		\$0.00		\$272,988.98		\$314,703.30
		Sche	dule IB:		\$331,204.65		\$269,212.59		\$399,598.35		\$413,554.42
		Sche	dule IC:		\$493,316.66		\$417,968.34		\$468,336.98		\$497,212.42
		Sched	dule IIA:		\$283,958.03		\$284,073.93		\$401,651.48		\$356,127.78
		Sched	dule IIB:		\$496,920.20		\$381,016.47		\$605,306.15		\$507,950.84
		Sched	dule IIC:		\$677,880.01		\$573,721.14		\$653,187.21		\$535,251.71
		Sched	ule IIIA:		\$346,646.34		\$360,613.61		\$477,815.30		\$498,519.99
		Sched	ule IIIB:		\$562,339.44		\$441,599.81		\$689,785.40		\$642,500.45
		Sched	ule IIIC:		\$769,735.73		\$659,044.91		\$735,753.50		\$678,179.93
ITEM					TOTAL		TOTAL	-	TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN ⁻
I											
	JLE I - ALTERNATE A: S. 259TH ST - SR 167	4.005		005.40	4407.045.00		40.00	* 44.00	4104.050.00	054.00	*045 475 00
	Haul and Install Bulk Bag	4,225	EA	\$25.40	\$107,315.00		\$0.00	\$46.00	\$194,350.00	\$51.00	\$215,475.00
	Standard Sandbag	4,225	EA	\$3.00	\$12,675.00		\$0.00	\$2.00	\$8,450.00	\$1.93	\$8,154.25
	Clearing the Site	1	LS	\$500.00	\$500.00		\$0.00	\$250.00	\$250.00	\$550.00	\$550.00
	Minor Changes	1	CALC	\$20,000.00	\$20,000.00		\$0.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
	Traffic Control Labor	200	HR	\$60.00	\$12,000.00		\$0.00	\$54.00	\$10,800.00	\$65.75	\$13,150.00
1365A	Construction Signs Class A	240	SF	\$10.00	\$2,400.00		\$0.00	\$16.50	\$3,960.00	\$22.79	\$5,469.60
1370A	Traffic Control Supervisor	100	HR	\$70.00	\$7,000.00		\$0.00	\$60.00	\$6,000.00	\$82.86	\$8,286.00
1375A	Temporary Traffic Control Devices	1	LS	\$11,500.00	\$11,500.00		\$0.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00
1380A	Portable Changeable Message Sign (PCMS)	21	DAY	\$100.00	\$2,100.00		\$0.00	\$52.00	\$1,092.00	\$326.26	\$6,851.46
1385A	Sequential Arrow Sign (SAS)	21	DAY	\$30.00	\$630.00		\$0.00	\$26.00	\$546.00	\$254.76	\$5,349.96
1390A	Type III Barricade	8	EA	\$150.00	\$1,200.00		\$0.00	\$261.00	\$2,088.00	\$110.00	\$880.00
1395A	Temporary Barrier	36	LF	\$50.00	\$1,800.00		\$0.00	\$26.00	\$936.00	\$44.00	\$1,584.00
	SUB TOTAL				\$179,120.00		\$0.00		\$249,305.00		\$287,400.27
	9.5% sales tax				\$17,016.40		\$0.00		\$23,683.98		\$27,303.03
	SCHEDULE I - ALTERNATE A TOTAL				\$196,136.40		\$0.00		\$272,988.98		\$314,703.30
SCHEDI	JLE I - ALTERNATE B: S. 259TH ST - SR 167										
	Fill, Load, Haul and Install Bulk Bag	4,225	EA	\$51.40	\$217,165.00	\$37.75	\$159,493.75	\$71.00	\$299,975.00	\$70.00	\$295,750.00
	Standard Sandbag	4,225	EA	\$3.00	\$12,675.00	\$2.50	\$10,562.50	\$2.00	\$8,450.00	\$1.93	\$8,154.25
	Clearing the Site	4,225	LS	\$500.00	\$500.00	\$2.50	\$2,500.00	\$2.00	\$250.00	\$550.00	\$550.00
	Minor Changes	1	CALC	\$30,000.00	\$30,000.00	\$2,500.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
	Traffic Control Labor	200	HR	\$60.00	\$12,000.00	\$45.00	\$9,000.00	\$54.00	\$10,800.00	\$65.75	\$13,150.00
	Construction Signs Class A	240	SF		\$2,400.00	\$45.00	\$4,800.00	\$16.50	\$3,960.00	\$05.75	\$5,469.60
	Traffic Control Supervisor		SF HR	\$10.00 \$70.00			\$4,800.00				
	•	100			\$7,000.00	\$100.00		\$60.00	\$6,000.00	\$82.86	\$8,286.00
	Temporary Traffic Control Devices	1	LS	\$15,000.00	\$15,000.00	\$3,000.00	\$3,000.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00
	Portable Changeable Message Sign (PCMS)	21	DAY	\$100.00	\$2,100.00	\$300.00	\$6,300.00	\$52.00	\$1,092.00	\$326.26	\$6,851.46
	Sequential Arrow Sign (SAS)	21	DAY	\$30.00	\$630.00	\$200.00	\$4,200.00	\$26.00	\$546.00	\$254.76	\$5,349.96
	Type III Barricade	8	EA	\$150.00	\$1,200.00	\$300.00	\$2,400.00	\$261.00	\$2,088.00	\$110.00	\$880.00
1395B	Temporary Barrier	36	LF	\$50.00	\$1,800.00	\$100.00	\$3,600.00	\$26.00	\$936.00	\$44.00	\$1,584.00
	SUB TOTAL				\$302,470.00		\$245,856.25		\$364,930.00		\$377,675.27
	9.5% sales tax				\$28,734.65		\$23,356.34		\$34,668.35		\$35,879.15
	SCHEDULE I - ALTERNATE B TOTAL				\$331,204.65	I	\$269,212.59		\$399,598.35	İ	\$413,554.42

							•		•	
CITY OF KENT	DIDDEDI	_			O., T. 6 1					
Green River Levee Temporary Flood Protection	BIDDER'		Scarsella Bros.,	Inc.	City Transfer In	c.	ICON Materials		Hos Bros. Const	ruction, Inc.
BID DEADLINE: October 5, 2009	NAME AN		PO Box 68697		PO Box 1850		PO Box 88050		PO Box 1788	
	ADDRES	S	Seattle, WA 987	168-0697	Sumner, WA 98	3390	Tukwila, WA 98	3138-2050	Woodinville, WA	98072
	Sche	dule IA:		\$196,136.40		\$0.00		\$272,988.98		\$314,703.30
		dule IB:		\$331,204.65		\$269,212.59		\$399,598.35		\$413,554.42
		dule IC:		\$493,316.66		\$417,968.34		\$468,336.98		\$497,212.42
		dule IIA:		\$283,958.03		\$284,073.93		\$401,651.48		\$356,127.78
		dule IIB:		\$496,920.20		\$381,016.47		\$605,306.15		\$507,950.84
		dule IIC:		\$677,880.01		\$573,721.14		\$653,187.21		\$535,251.71
		ule IIIA:		\$346,646.34		\$360,613.61		\$477,815.30		\$498,519.99
I		ule IIIB:		\$562,339.44		\$441,599.81		\$689,785.40		\$642,500.45
		ule IIIC:		\$769,735.73		\$659,044.91		\$735,753.50		\$678,179.93
ITEM NO. DESCRIPTION	QUANTITY	LINIT	LINIT DDICE	TOTAL		TOTAL	UNIT PRICE	TOTAL		TOTAL
NO. DESCRIPTION SCHEDULE I - ALTERNATE C: S. 259TH ST - SR 167	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1002C Provide Sand, Fill, Load, Haul and Install Bulk Bag	4,225	EA	\$76.50	\$323,212.50	\$63.75	\$269,343.75	\$78.00	\$329,550.00	\$78.00	\$329,550.00
1003C Standard Sandbag	4,225	EA	\$3.00	\$12,675.00	\$2.50	\$10,562.50	\$2.00	\$8,450.00	\$1.93	\$8,154.25
1004C Clearing the Site	4,225	LS	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$2.00	\$250.00	\$550.00	\$550.00
1355C Minor Changes	1	CALC	\$20,000.00	\$20,000.00	\$2,000.00	\$2,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
1360C Traffic Control Labor	1,000	HR	\$60.00	\$60,000.00	\$45.00	\$45,000.00	\$54.00	\$54,000.00	\$65.75	\$65,750.00
1365C Construction Signs Class A	240	SF	\$10.00	\$2,400.00	\$20.00	\$4,800.00	\$16.50	\$3,960.00	\$22.79	\$5,469.60
1370C Traffic Control Supervisor	100	HR	\$70.00	\$7,000.00	\$100.00	\$10,000.00	\$60.00	\$6,000.00	\$82.86	\$8,286.00
1375C Traffic Control Supervisor 1375C Temporary Traffic Control Devices	100	LS	\$19,000.00	\$19,000.00	\$3,000.00	\$3,000.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00
1380C Portable Changeable Message Sign (PCMS)	21	DAY	\$19,000.00	\$2,100.00	\$3,000.00	\$6,300.00	\$52.00	\$1,092.00	\$1,650.00	\$6,851.46
1385C Sequential Arrow Sign (SAS) 1390C Type III Barricade	21 8	DAY EA	\$30.00 \$150.00	\$630.00	\$200.00 \$300.00	\$4,200.00 \$2,400.00	\$26.00 \$261.00	\$546.00	\$254.76 \$110.00	\$5,349.96 \$880.00
1395C Temporary Barrier	36	LF	\$50.00	\$1,200.00 \$1,800.00	\$100.00	\$3,600.00	\$26.00	\$2,088.00 \$936.00	\$44.00	\$1,584.00
SUB TOTAL	30		\$30.00	\$450,517.50	\$100.00	\$3,000.00	\$20.00	\$427,705.00	Ψ+4.00	\$454,075.27
9.5% sales tax				\$42,799.16		\$36,262.09		\$40,631.98		\$43,137.15
SCHEDULE I - ALTERNATE C TOTAL				\$493,316.66		\$417,968.34		\$468,336.98		\$497,212.42
COLEDING II. ALTERNATE A. HAMILEY DD. C. 0040T.	~ ~									
SCHEDULE II - ALTERNATE A: HAWLEY RD - S. 231ST S		ΕΛ	\$25.40	\$176 900 40	\$25.75	¢170 245 75	\$44.00	\$206.204.00	\$25.50	\$247 115 50
2002A Haul and Install Bulk Bag 2003A Standard Sandbag	6,961 6,961	EA EA	\$25.40 \$3.00	\$176,809.40	\$25.75 \$2.50	\$179,245.75 \$17,402.50	\$44.00 \$2.00	\$306,284.00 \$13,922.00	\$35.50 \$1.93	\$247,115.50 \$13,434.73
2004A Clearing the Site	0,901	LS	\$3.00	\$20,883.00 \$3,500.00	\$2.50 \$4,000.00	\$17,402.50 \$4,000.00	\$2.00 \$340.00	\$13,922.00	\$1.93 \$550.00	\$13,434.73
-	1	CALC								
2355A Minor Changes 2360A Traffic Control Labor	200	HR	\$15,000.00 \$60.00	\$15,000.00 \$12,000.00	\$15,000.00 \$45.00	\$15,000.00 \$9,000.00	\$15,000.00 \$54.00	\$15,000.00 \$10,800.00	\$15,000.00 \$65.75	\$15,000.00 \$13,150.00
2365A Construction Signs Class A	480	SF	\$10.00	\$12,000.00	\$45.00	\$9,600.00	\$54.00 \$16.50	\$10,800.00 \$7,920.00	\$65.75 \$22.79	\$10,939.20
2370A Traffic Control Supervisor	100	эг HR	\$70.00	\$7,000.00	\$100.00	\$10,000.00	\$60.00	\$6,000.00	\$82.86	\$8,286.00
·			1			•		,		,
2375A Temporary Traffic Control Devices 2380A Portable Changeable Message Sign (PCMS)	1	LS DAY	\$13,000.00	\$13,000.00	\$3,000.00	\$3,000.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00 \$6,951.46
3 3 . ,	21		\$100.00	\$2,100.00	\$300.00	\$6,300.00	\$52.00 \$36.00	\$1,092.00	\$326.26	\$6,851.46
2385A Sequential Arrow Sign (SAS)	21	DAY	\$30.00	\$630.00	\$100.00 \$75.00	\$2,100.00	\$26.00	\$546.00	\$254.76 \$110.00	\$5,349.96 \$1,220.00
2390A Type III Barricade	12	EA LF	\$150.00 \$50.00	\$1,800.00	\$75.00 \$80.00	\$900.00	\$261.00 \$26.00	\$3,132.00	\$110.00 \$44.00	\$1,320.00 \$1,584.00
2395A Temporary Barrier	36	LF	\$50.00	\$1,800.00	\$80.00	\$2,880.00	\$26.00	\$936.00	\$44.00	
SUB TOTAL				\$259,322.40		\$259,428.25		\$366,805.00		\$325,230.85
9.5% sales tax SCHEDULE II - ALTERNATE A TOTAL				\$24,635.63		\$24,645.68		\$34,846.48		\$30,896.93
SCHEDULE II - ALTERNATE A TOTAL				\$283,958.03		\$284,073.93		\$401,651.48		\$356,127.78

CITY OF KENT										
een River Levee Temporary Flood Protection BIDDER'S		Scarsella Bros.,	Inc.	City Transfer Inc.		ICON Materials		Hos Bros. Construction, Inc.		
BID DEADLINE: October 5, 2009	NAME AND		PO Box 68697		PO Box 1850		PO Box 88050		PO Box 1788	
	ADDRES	5	Seattle, WA 98	168-0697	Sumner, WA 98390		Tukwila, WA 98138-2050		Woodinville, WA 98072	
	Sche	dule IA:		\$196,136.40		\$0.00		\$272,988.98		\$314,703.30
		dule IB:		\$331,204.65		\$269,212.59		\$399,598.35		\$413,554.42
		dule IC:		\$493,316.66		\$417,968.34		\$468,336.98		\$497,212.42
		lule IIA:		\$283,958.03		\$284,073.93		\$401,651.48		\$356,127.78
	Sched	lule IIB:		\$496,920.20		\$381,016.47		\$605,306.15		\$507,950.84
	Sched	lule IIC:		\$677,880.01		\$573,721.14		\$653,187.21		\$535,251.71
	Sched	ule IIIA:		\$346,646.34		\$360,613.61		\$477,815.30		\$498,519.99
	Sched	ule IIIB:		\$562,339.44		\$441,599.81		\$689,785.40		\$642,500.45
	Sched	ule IIIC:		\$769,735.73		\$659,044.91		\$735,753.50		\$678,179.93
ITEM				TOTAL		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDULE II - ALTERNATE B: HAWLEY RD - S. 231ST	ST									
2002B Fill, Load, Haul and Install Bulk Bag	6,961	EA	\$51.40	\$357,795.40	\$37.75	\$262,777.75	\$70.00	\$487,270.00	\$54.70	\$380,766.70
2003B Standard Sandbag	6,961	EA	\$3.00	\$20,883.00	\$2.50	\$17,402.50	\$2.00	\$13,922.00	\$1.93	\$13,434.73
2004B Clearing the Site	1	LS	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$340.00	\$340.00	\$550.00	\$550.00
2355B Minor Changes	1	CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
2360B Traffic Control Labor	200	HR	\$60.00	\$12,000.00	\$45.00	\$9,000.00	\$54.00	\$10,800.00	\$65.75	\$13,150.00
2365B Construction Signs Class A	480	SF	\$10.00	\$4,800.00	\$20.00	\$9,600.00	\$16.50	\$7,920.00	\$22.79	\$10,939.20
2370B Traffic Control Supervisor	100	HR	\$70.00	\$7,000.00	\$100.00	\$10,000.00	\$60.00	\$6,000.00	\$82.86	\$8,286.00
2375B Temporary Traffic Control Devices	1	LS	\$21,500.00	\$21,500.00	\$3,000.00	\$3,000.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00
2380B Portable Changeable Message Sign (PCMS)	21	DAY	\$100.00	\$2,100.00	\$300.00	\$6,300.00	\$52.00	\$1,092.00	\$326.26	\$6,851.46
2385B Sequential Arrow Sign (SAS)	21	DAY	\$30.00	\$630.00	\$100.00	\$2,100.00	\$26.00	\$546.00	\$254.76	\$5,349.96
2390B Type III Barricade	12	EA	\$150.00	\$1,800.00	\$75.00	\$900.00	\$261.00	\$3,132.00	\$110.00	\$1,320.00
2395B Temporary Barrier	36	LF	\$50.00	\$1,800.00	\$80.00	\$2,880.00	\$26.00	\$936.00	\$44.00	\$1,584.00
SUB TOTAL				\$453,808.40		\$347,960.25		\$552,791.00		\$463,882.05
9.5% sales tax				\$43,111.80		\$33,056.22		\$52,515.15		\$44,068.79
SCHEDULE II - ALTERNATE B TOTAL				\$496,920.20		\$381,016.47		\$605,306.15		\$507,950.84
SCHEDULE II - ALTERNATE C: HAWLEY RD - S. 231ST										
2002C Provide Sand, Fill, Load, Haul and Install Bulk Bag		EA	\$75.50	\$525,555.50	\$63.75	\$443,763.75	\$77.00	\$535,997.00	\$59.00	\$410,699.00
2003C Standard Sandbag	6,961	EA	\$3.00	\$20,883.00	\$2.50	\$17,402.50	\$2.00	\$13,922.00	\$1.93	\$13,434.73
2004C Clearing the Site	1	LS	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$340.00	\$340.00	\$550.00	\$550.00
2355C Minor Changes	1	CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
2360C Traffic Control Labor	200	HR	\$60.00	\$12,000.00	\$45.00	\$9,000.00	\$54.00	\$10,800.00	\$65.75	\$13,150.00
2365C Construction Signs Class A	480	SF	\$10.00	\$4,800.00	\$20.00	\$9,600.00	\$16.50	\$7,920.00	\$22.79	\$10,939.20
2370C Traffic Control Supervisor	100	HR	\$70.00	\$7,000.00	\$100.00	\$10,000.00	\$60.00	\$6,000.00	\$82.86	\$8,286.00
2375C Temporary Traffic Control Devices 2390C Portable Changeable Message Sign (PCMS)	1	LS	\$24,000.00	\$24,000.00	\$3,000.00	\$3,000.00 \$6,300.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00 \$6,951.46
2380C Portable Changeable Message Sign (PCMS)	21	DAY	\$100.00	\$2,100.00	\$300.00		\$52.00 \$36.00	\$1,092.00	\$326.26	\$6,851.46 \$5,240.06
2385C Sequential Arrow Sign (SAS) 2390C Type III Barricade	21 12	DAY EA	\$30.00 \$150.00	\$630.00 \$1,800.00	\$100.00 \$75.00	\$2,100.00 \$900.00	\$26.00 \$261.00	\$546.00 \$3,132.00	\$254.76 \$110.00	\$5,349.96 \$1,320.00
2395C Type III Barricade 2395C Temporary Barrier	36	LF	\$150.00	\$1,800.00	\$80.00	\$2,880.00	\$261.00	\$3,132.00	\$110.00	\$1,320.00
SUB TOTAL	30	LI	\$30.00	\$619,068.50	Ψ00.00	\$523,946.25	Ψ20.00	\$596,518.00	ψ44.00	\$488,814.35
9.5% sales tax				\$58,811.51		\$49,774.89		\$56,669.21		\$46,437.36
			1	#55,011.01	1	w . / , / , / /	1	#55,007.ZI	1	\$.5, IS7.50

l				Ì		i		Í		ĺ	
CITY OF		BIDDER'	c	Scarsella Bros.,	Inc	City Transfor In	•	ICON Materials		Hos Bros. Const	ruction Inc
Green River Levee Temporary Flood Protection BID DEADLINE: October 5, 2009		NAME AN		PO Box 68697	IIIC.	City Transfer In PO Box 1850	C .	PO Box 88050		PO Box 1788	ruction, mc.
DID DEAL	DETNE: October 5, 2009	ADDRES			140 0407		2200		120 2050		00073
		ADDRES	5	Seattle, WA 98	108-0097	Sumner, WA 98	3390	Tukwila, WA 98	3138-2050	Woodinville, WA	1 98072
		Sche	edule IA:		\$196,136.40		\$0.00		\$272,988.98		\$314,703.30
			edule IB:		\$331,204.65		\$269,212.59		\$399,598.35		\$413,554.42
			dule IC:		\$493,316.66		\$417,968.34		\$468,336.98		\$497,212.42
		Scheo	dule IIA:		\$283,958.03		\$284,073.93		\$401,651.48		\$356,127.78
		Scheo	dule IIB:		\$496,920.20		\$381,016.47		\$605,306.15		\$507,950.84
		Scheo	dule IIC:		\$677,880.01		\$573,721.14		\$653,187.21		\$535,251.71
i		Sched	ule IIIA:		\$346,646.34		\$360,613.61		\$477,815.30		\$498,519.99
1		Sched	ule IIIB:		\$562,339.44		\$441,599.81		\$689,785.40		\$642,500.45
		Sched	ule IIIC:		\$769,735.73		\$659,044.91		\$735,753.50		\$678,179.93
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	LE III - ALTERNATE A: S. 231ST WAY - W			40- 10	4400 000 00		**************************************		****		*****
	Haul and Install Bulk Bag	7,830	EA	\$25.40	\$198,882.00	\$25.75	\$201,622.50	\$44.00	\$344,520.00	\$42.00	\$328,860.00
	Standard Sandbag	7,830	EA	\$3.00	\$23,490.00	\$2.50	\$19,575.00	\$2.00	\$15,660.00	\$1.93	\$15,111.90
	Clearing the Site	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$340.00	\$340.00	\$550.00	\$550.00
	Minor Changes	1	CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
	Traffic Control Labor	350	HR	\$60.00	\$21,000.00	\$45.00	\$15,750.00	\$54.00	\$18,900.00	\$65.75	\$23,012.50
	Construction Signs Class A	480	SF	\$10.00	\$4,800.00	\$20.00	\$9,600.00	\$16.50	\$7,920.00	\$22.79	\$10,939.20
	Traffic Control Supervisor	350	HR	\$70.00	\$24,500.00	\$100.00	\$35,000.00	\$60.00	\$21,000.00	\$82.86	\$29,001.00
	Temporary Traffic Control Devices	1	LS	\$14,600.00	\$14,600.00	\$3,000.00	\$3,000.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00
	Portable Changeable Message Sign (PCMS)	40	DAY	\$100.00	\$4,000.00	\$300.00	\$12,000.00	\$52.00	\$2,080.00	\$326.26	\$13,050.40
	Sequential Arrow Sign (SAS)	40	DAY	\$30.00	\$1,200.00	\$100.00	\$4,000.00	\$26.00	\$1,040.00	\$254.76	\$10,190.40
	Type III Barricade	12	EA	\$150.00	\$1,800.00	\$75.00	\$900.00	\$261.00	\$3,132.00	\$110.00	\$1,320.00
3395A	Temporary Barrier	36	LF	\$50.00	\$1,800.00	\$80.00	\$2,880.00	\$26.00	\$936.00	\$44.00	\$1,584.00
	SUB TOTAL				\$316,572.00		\$329,327.50		\$436,361.00		\$455,269.40
	9.5% sales tax				\$30,074.34		\$31,286.11		\$41,454.30		\$43,250.59
	SCHEDULE III - ALTERNATE A TOTAL				\$346,646.34		\$360,613.61		\$477,815.30		\$498,519.99
SCHEDU	LE III - ALTERNATE B: S. 231ST WAY - W	VH AT S. 182ND ST.									
3002B	Fill, Load, Haul and Install Bulk Bag	7,830	EA	\$51.40	\$402,462.00	\$37.75	\$295,582.50	\$70.00	\$548,100.00	\$60.80	\$476,064.00
	Standard Sandbag	7,830	EA	\$3.00	\$23,490.00	\$2.50	\$19,575.00	\$2.00	\$15,660.00	\$1.93	\$15,111.90
3004B	Clearing the Site	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$340.00	\$340.00	\$550.00	\$550.00
3355B	Minor Changes	1	CALC	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
3360B	Traffic Control Labor	350	HR	\$60.00	\$21,000.00	\$45.00	\$15,750.00	\$54.00	\$18,900.00	\$65.75	\$23,012.50
3365B	Construction Signs Class A	480	SF	\$10.00	\$4,800.00	\$20.00	\$9,600.00	\$16.50	\$7,920.00	\$22.79	\$10,939.20
3370B	Traffic Control Supervisor	100	HR	\$70.00	\$7,000.00	\$100.00	\$10,000.00	\$60.00	\$6,000.00	\$82.86	\$8,286.00
3375B	Temporary Traffic Control Devices	1	LS	\$20,500.00	\$20,500.00	\$3,000.00	\$3,000.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00
3380B	Portable Changeable Message Sign (PCMS)	40	DAY	\$100.00	\$4,000.00	\$300.00	\$12,000.00	\$52.00	\$2,080.00	\$326.26	\$13,050.40
	Sequential Arrow Sign (SAS)	40	DAY	\$30.00	\$1,200.00	\$100.00	\$4,000.00	\$26.00	\$1,040.00	\$254.76	\$10,190.40
3390B	Type III Barricade	12	EA	\$150.00	\$1,800.00	\$75.00	\$900.00	\$261.00	\$3,132.00	\$110.00	\$1,320.00
3395B	Temporary Barrier	36	LF	\$50.00	\$1,800.00	\$80.00	\$2,880.00	\$26.00	\$936.00	\$44.00	\$1,584.00
	SUB TOTAL				\$513,552.00		\$403,287.50		\$629,941.00		\$586,758.40
i	9.5% sales tax				\$48,787.44		\$38,312.31		\$59,844.40		\$55,742.05
ı	SCHEDULE III ALTERNATE B TOTAL				\$562,339.44		\$441,599.81		\$689,785.40		\$642,500.45

CITY OF KENT										Ĭ	
Green River Levee Temporary Flood Protection BIDDER'S				Scarsella Bros., Inc.		City Transfer Inc.		ICON Materials		Hos Bros. Construction, Inc.	
BID DEADLINE: October 5, 2009	NAME AN		•		PO Box 1850		PO Box 88050		PO Box 1788		
	ADDRES:				Sumner, WA 98390		Tukwila, WA 98138-2050		Woodinville, WA	98072	
									,		
	Sche	dule IA:		\$196,136.40		\$0.00		\$272,988.98		\$314,703.30	
	Sche	dule IB:		\$331,204.65		\$269,212.59		\$399,598.35		\$413,554.42	
	Sche	dule IC:		\$493,316.66		\$417,968.34		\$468,336.98		\$497,212.42	
	Sched	lule IIA:		\$283,958.03		\$284,073.93		\$401,651.48		\$356,127.78	
	Sched	lule IIB:		\$496,920.20		\$381,016.47		\$605,306.15		\$507,950.84	
	Sched	lule IIC:		\$677,880.01		\$573,721.14		\$653,187.21		\$535,251.71	
	Sched	ule IIIA:		\$346,646.34		\$360,613.61		\$477,815.30		\$498,519.99	
	Sched	ule IIIB:		\$562,339.44		\$441,599.81		\$689,785.40		\$642,500.45	
	Sched	ule IIIC:		\$769,735.73		\$659,044.91		\$735,753.50		\$678,179.93	
ITEM				TOTAL		TOTAL		TOTAL		TOTAL	
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
SCHEDULE III - ALTERNATE C: S. 231ST WAY - WVH	AT S. 182ND ST.										
3002C Provide Sand, Fill, Load, Haul and Install Bulk Bag	7,830	EA	\$75.50	\$591,165.00	\$63.75	\$499,162.50	\$76.00	\$595,080.00	\$65.60	\$513,648.00	
3003C Standard Sandbag	7,830	EA	\$3.00	\$23,490.00	\$2.50	\$19,575.00	\$2.00	\$15,660.00	\$1.93	\$15,111.90	
3004C Clearing the Site	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$340.00	\$340.00	\$550.00	\$550.00	
3355C Minor Changes	1	CALC	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	
3360C Traffic Control Labor	350	HR	\$60.00	\$21,000.00	\$45.00	\$15,750.00	\$54.00	\$18,900.00	\$65.75	\$23,012.50	
3365C Construction Signs Class A	480	SF	\$10.00	\$4,800.00	\$20.00	\$9,600.00	\$16.50	\$7,920.00	\$22.79	\$10,939.20	
3370C Traffic Control Supervisor	100	HR	\$70.00	\$7,000.00	\$100.00	\$10,000.00	\$60.00	\$6,000.00	\$82.86	\$8,286.00	
3375C Temporary Traffic Control Devices	1	LS	\$26,200.00	\$26,200.00	\$3,000.00	\$3,000.00	\$833.00	\$833.00	\$1,650.00	\$1,650.00	
3380C Portable Changeable Message Sign (PCMS)	40	DAY	\$100.00	\$4,000.00	\$300.00	\$12,000.00	\$52.00	\$2,080.00	\$326.26	\$13,050.40	
3385C Sequential Arrow Sign (SAS)	40	DAY	\$30.00	\$1,200.00	\$100.00	\$4,000.00	\$26.00	\$1,040.00	\$254.76	\$10,190.40	
3390C Type III Barricade	12	EA	\$150.00	\$1,800.00	\$75.00	\$900.00	\$261.00	\$3,132.00	\$110.00	\$1,320.00	
3395C Temporary Barrier	36	LF	\$50.00	\$1,800.00	\$80.00	\$2,880.00	\$26.00	\$936.00	\$44.00	\$1,584.00	
SUB TOTAL				\$702,955.00		\$601,867.50		\$671,921.00		\$619,342.40	
9.5% sales tax				\$66,780.73		\$57,177.41		\$63,832.50		\$58,837.53	
SCHEDULE III ALTERNATE C TOTAL				\$769,735.73		\$659,044.91		\$735,753.50		\$678,179.93	
SUMMARY											
Total Schedule I - Alternate A				\$196,136.40		\$0.00		\$272,988.98		\$314,703.30	
Tolal Schedule I - Alternate B				\$331,204.65		\$269,212.59		\$399,598.35		\$413,554.42	
Total Schedule I - Alternate C				\$493,316.66		\$417,968.34		\$468,336.98		\$497,212.42	
Total Schedule II - Alternate A				\$283,958.03		\$284,073.93		\$401,651.48		\$356,127.78	
Total Schedule II - Alternate B				\$496,920.20		\$381,016.47		\$605,306.15		\$507,950.84	
Total Schedule II - Alternate C				\$677,880.01		\$573,721.14		\$653,187.21		\$535,251.71	
Tolal Schedule III - Alternate A				\$346,646.34		\$360,613.61		\$477,815.30		\$498,519.99	
Total Schedule III - Alternate B				\$562,339.44		\$441,599.81		\$689,785.40		\$642,500.45	
Total Schedule III - Alternate C				\$769,735.73		\$659,044.91		\$735,753.50		\$678,179.93	